

1 **RESOLUTION BY THE FULTON COUNTY BOARD OF COMMISSIONERS**
2 **TO AMEND FULTON COUNTY'S CURRENT BUDGET ON MAY 21,**
3 **2025, TO MODIFY DEPARTMENTAL BUDGETS; AND FOR OTHER**
4 **PURPOSES**
5
6

7 **WHEREAS**, O.C.G.A. § 36-81-3 provides that counties have the authority
8 to adopt an ordinance to establish their own fiscal year and budget preparation
9 process; and

10 **WHEREAS**, the Board of Commissioners of Fulton County has determined
11 that it is in the best interest of the County to have a streamlined budget preparation
12 process that provides the necessary legal requirements and removes previous
13 time consuming and burdensome practices; and

14 **WHEREAS**, O.C.G.A. § 36-81-3 provides that a county may amend its
15 budget to adapt to changing governmental needs during the budget period; and

16 **WHEREAS**, O.C.G.A. § 36-81-3(d) provides that amendments shall be
17 made as follows:

18 (1) Any increase in appropriation at the legal level of control of the local
19 government, whether accomplished through a change in anticipated revenues in
20 any fund or through a transfer of appropriations among departments, shall require
21 the approval of the governing authority. Such amendment shall be adopted by
22 ordinance or resolution, and the basis for the funding decision does not negate or
23 create personnel policy or procedure;

24 (2) Transfers of appropriations within any fund below the local government's
25 legal level of control shall require only the approval of the budget officer; and

26 (3) The governing authority of a local government may amend the legal level

1 of control to establish a more detailed level of budgetary control at any time during
2 the budget period. Said amendment shall be adopted by ordinance or resolution;
3 and

4 **WHEREAS**, the legal level of control for Fulton County is the departmental
5 level.

6 **NOW, THEREFORE, BE IT RESOLVED** by the Board of Commissioners of
7 Fulton County, Georgia, that, pursuant to O.C.G.A. § 36-81-3(d), the current
8 budget is hereby amended by approval of the attached departmental budget
9 modifications.

10 **BE IT FURTHER RESOLVED THAT** all resolutions or parts thereof in
11 conflict herewith are hereby repealed.

12 **SO PASSED AND ADOPTED**, this 21st day of May, 2025.

13
14 **FULTON COUNTY BOARD OF COMMISSIONERS**
15
16



23
24
25
26
27
28

Robert L. Pitts

Robert L. Pitts, Chairman

ATTEST:

Tonya R. Grier

Tonya Grier
Clerk to the Commission

APPROVED AS TO FORM:

Y. Soo Jo

Y. Soo Jo
County Attorney

ITEM # 25 0394 SRM 5/21/25
SECOND REGULAR MEETING

Dell PowerStore + Isilon 1 Year Renewal

Fulton County, GA

Contract Code

Description	Qty
Arrow Georgia Enterprise Infrastructure Contract Code : C000001166678	

PowerStore Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
9RFYCJ3 Prosupport Plus Mission Critical 7x24 Technical Support and Assistance POWERSTORE NVME ENS24 FIELDUPG	\$600.94	1	\$600.94
9RFYCJ3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Medium Capacity SSD Add-On POWERSTORE NVME ENS24 FIELDUPG	\$3,089.47	9	\$27,805.23
9RFYCJ3 Prosupport Plus Mission Critical 4-Hour 7x24 Onsite Service with Emergency Dispatch POWERSTORE NVME ENS24 FIELDUPG	\$600.80	1	\$600.80
6RFYCJ3 Prosupport Plus Mission Critical 7x24 Technical Support and Assistance POWERSTORE NVME ENS24 FIELDUPG	\$584.11	1	\$584.11
6RFYCJ3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Medium Capacity SSD Add-On POWERSTORE NVME ENS24 FIELDUPG	\$3,003.65	9	\$27,032.85
6RFYCJ3 Prosupport Plus Mission Critical 4-Hour 7x24 Onsite Service with Emergency Dispatch POWERSTORE NVME ENS24 FIELDUPG	\$584.10	1	\$584.10
2NFB1K3 1 Year ProSupport Plus PowerStore 3K Metro FB Software Support-Maint DELL EMC METRO NODE SOFTWARE	\$6,582.92	1	\$6,582.92
2NFB1K3 ProSupport Plus PowerStore 3K Metro FB Software Support-Contract DELL EMC METRO NODE SOFTWARE	\$0.00	1	\$0.00
J9SK143 ProSupport Plus Mission Critical for AppSync Starter Pack Software Support Contract APPSYNC FOR POWERSTORE	\$0.01	1	\$0.01
J9SK143 ProSupport Plus Mission Critical for AppSync Starter Pack Software Support Maintenance 1 Year APPSYNC FOR POWERSTORE	\$0.00	1	\$0.00
28GB1K3 1 Year ProSupport Plus PowerStore 3K Metro FB Software Support-Maint DELL EMC METRO NODE SOFTWARE	\$6,582.92	1	\$6,582.92
28GB1K3 ProSupport Plus PowerStore 3K Metro FB Software Support-Contract DELL EMC METRO NODE SOFTWARE	\$0.00	1	\$0.00
J9SJ143 ProSupport Plus Mission Critical for AppSync Starter Pack Software Support Contract APPSYNC FOR POWERSTORE	\$0.01	1	\$0.01



PowerStore Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
J9SJ143 ProSupport Plus Mission Critical for AppSync Starter Pack Software Support Maintenance 1 Year APPSYNC FOR POWERSTORE	\$0.00	1	\$0.00
DQZ3VH3 ProSupport Plus Mission Critical 7x24 Technical Support and Assistance VPLEX,METRONODE,R640	\$2,669.58	1	\$2,669.58
DQZ3VH3 1 Year ProSupport Plus Mission Critical metro node Local Base Incl 10TB Software Support-Maint VPLEX,METRONODE,R640	\$0.00	1	\$0.00
DQZ3VH3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch VPLEX,METRONODE,R640	\$1,779.74	1	\$1,779.74
FQZ3VH3 ProSupport Plus Mission Critical 7x24 Technical Support and Assistance VPLEX,METRONODE,R640	\$2,669.59	1	\$2,669.59
FQZ3VH3 1 Year ProSupport Plus Mission Critical metro node Local Base Incl 10TB Software Support-Maint VPLEX,METRONODE,R640	\$0.00	1	\$0.00
FQZ3VH3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch VPLEX,METRONODE,R640	\$1,779.74	1	\$1,779.74
3ZYMMF3 ProSupport Plus: Mission Critical 7x24 Tech Support and Assistance POWERSTORE3000 DPE FLD BSC	\$7,108.51	1	\$7,108.51
3ZYMMF3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Medium Capacity SSD Add-On POWERSTORE3000 DPE FLD BSC	\$5,612.27	18	\$101,020.86
3ZYMMF3 ProSupport Plus: Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch POWERSTORE3000 DPE FLD BSC	\$4,738.96	1	\$4,738.96
3ZZLMF3 ProSupport Plus: Mission Critical 7x24 Tech Support and Assistance POWERSTORE3000 DPE FLD BSC	\$7,108.51	1	\$7,108.51
3ZZLMF3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Medium Capacity SSD Add-On POWERSTORE3000 DPE FLD BSC	\$5,612.27	18	\$101,020.86
3ZZLMF3 ProSupport Plus: Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch POWERSTORE3000 DPE FLD BSC	\$4,738.96	1	\$4,738.96
GQZ3VH3 ProSupport Plus Mission Critical 7x24 Technical Support and Assistance VPLEX,METRONODE,R640	\$2,669.58	1	\$2,669.58
GQZ3VH3 1 Year ProSupport Plus Mission Critical metro node Local Base Incl 10TB Software Support-Maint VPLEX,METRONODE,R640	\$0.00	1	\$0.00
GQZ3VH3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch VPLEX,METRONODE,R640	\$1,779.74	1	\$1,779.74
HQZ3VH3 ProSupport Plus Mission Critical 7x24 Technical Support and Assistance VPLEX,METRONODE,R640	\$2,669.59	1	\$2,669.59
HQZ3VH3 1 Year ProSupport Plus Mission Critical metro node Local Base Incl 10TB Software Support-Maint VPLEX,METRONODE,R640	\$0.00	1	\$0.00



PowerStore Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
HQZ3VH3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch VPLEX,METRONODE,R640	\$1,779.74	1	\$1,779.74
H3RYCJ3 ProSupport Plus: Mission Critical 7x24 Tech Support and Assistance POWERSTORE UPG	\$0.00	1	\$0.00
H3RYCJ3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Medium Capacity SSD Add-On POWERSTORE UPG	\$1,930.95	5	\$9,654.75
H3RYCJ3 ProSupport Plus: Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch POWERSTORE UPG	\$0.00	1	\$0.00
14RYCJ3 ProSupport Plus: Mission Critical 7x24 Tech Support and Assistance POWERSTORE UPG	\$0.00	1	\$0.00
14RYCJ3 ProSupport Plus Mission Critical 4-Hour 7x24 On-Site Medium Capacity SSD Add-On POWERSTORE UPG	\$1,913.08	5	\$9,565.40
14RYCJ3 ProSupport Plus: Mission Critical 4-Hour 7x24 On-Site Service with Emergency Dispatch POWERSTORE UPG	\$0.00	1	\$0.00
Subtotal:			\$333,128.00

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
CES08174000126 SWITCH 40GBE 32P 2PS CELESTICA - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$427.61	1	\$427.61
CES08174000128 SWITCH 40GBE 32P 2PS CELESTICA - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$427.61	1	\$427.61
CES08174700021 SWITCH 40GBE 32P 2PS CELESTICA - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$428.98	1	\$428.98
CES08174700024 SWITCH 40GBE 32P 2PS CELESTICA - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$428.98	1	\$428.98
24996801 ONEFS BASE LICENSE TIER 4=ID - ProSupport Plus MC Software Support	\$1,292.49	1	\$1,292.49
24996805 ONEFS CAPACITY LICENSE TIER 4 =CB - ProSupport Plus MC Software Support	\$14.497	120	\$1,739.64
JACNM20100014 7 A200-2.2GHZ/2C/16G+15X8TB SAT/400GB - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$3,499.90	1	\$3,499.90
24996798 ONEFS BASE LICENSE TIER 4=ID - ProSupport Plus MC Software Support	\$1,292.49	1	\$1,292.49
24996803 ONEFS CAPACITY LICENSE TIER 4 =CB - ProSupport Plus MC Software Support	\$14.497	120	\$1,739.64

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
JACNM20100022 0 A200-2.2GHZ/2C/16G+15X8TB SAT/400GB - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$3,499.00	1	\$3,499.00
24996800 ONEFS BASE LICENSE TIER 4=ID - ProSupport Plus MC Software Support	\$1,292.49	1	\$1,292.49
24996802 ONEFS CAPACITY LICENSE TIER 4 =CB - ProSupport Plus MC Software Support	\$14.497	120	\$1,739.64
JACNM20100024 2 A200-2.2GHZ/2C/16G+15X8TB SAT/400GB - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$3,499.00	1	\$3,499.00
ENTERPRISE ADVANCED BUNDLE TIER 4=ID - ProSupport Plus MC Software Support	\$814.53	4	\$3,258.12
ENTERPRISE ADV BUNDLE CAP T4 PER TB=CB - ProSupport Plus MC Software Support	\$17.01	480	\$8,164.80
HDFS FOR ONEFS 0.00 - ProSupport Plus MC Software Support	\$0.00	4	\$0.00
24996799 ONEFS BASE LICENSE TIER 4=ID - ProSupport Plus MC Software Support	\$1,292.49	1	\$1,292.49
24996804 ONEFS CAPACITY LICENSE TIER 4 =CB - ProSupport Plus MC Software Support	\$14.497	120	\$1,739.64
ONEFS PRODUCT - ProSupport Plus MC Software Support	\$0.00	1	\$0.00
JACNM20100044 5 A200-2.2GHZ/2C/16G+15X8TB SAT/400GB - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$3,499.00	1	\$3,499.00
2X10GBE SFP+ BACK END W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$147.7625	4	\$591.05
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$147.7625	4	\$591.05
ISD - 400GB SSD - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$227.83	4	\$911.32
JACNN20142016 5 BASE CHASSIS - NORMAL -PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$820.48	1	\$820.48
25014141 ONEFS BASE LICENSE TIER 4=ID - ProSupport Plus MC Software Support	\$1,292.49	1	\$1,292.49
25014144 ONEFS CAPACITY LICENSE TIER 4 =CB - ProSupport Plus MC Software Support	\$14.497	120	\$1,739.64
ONEFS PRODUCT - ProSupport Plus MC Software Support	\$0.00	1	\$0.00
JWXNM2015000 63 A200-2.2GHZ/2C/16G+15X8TB SAT/400GB - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$3,499.00	1	\$3,499.00

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
2X10GBE SFP+ BACK END W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$147.7625	4	\$591.05
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$147.7625	4	\$591.05
ISD - 400GB SSD - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$227.83	4	\$911.32
25014140 ONEFS BASE LICENSE TIER 4=ID - ProSupport Plus MC Software Support	\$1,292.49	1	\$1,292.49
25014145 ONEFS CAPACITY LICENSE TIER 4 =CB - ProSupport Plus MC Software Support	\$14.497	120	\$1,739.64
JWXNM2015000 98 A200-2.2GHZ/2C/16G+15X8TB SAT/400GB	\$3,499.90	1	\$3,499.90
ENTERPRISE ADV BUNDLE CAP T4 PER TB=CB - ProSupport Plus MC Software Support	\$17.10	480	\$8,208.00
25014139 ONEFS BASE LICENSE TIER 4=ID - ProSupport Plus MC Software Support	\$1,292.49	1	\$1,292.49
25014143 ONEFS CAPACITY LICENSE TIER 4 =CB - ProSupport Plus MC Software Support	\$14.497	120	\$1,739.64
JWXNM2015001 07 A200-2.2GHZ/2C/16G+15X8TB SAT/400GB	\$3,499.90	1	\$3,499.90
25014142 ONEFS BASE LICENSE TIER 4=ID - ProSupport Plus MC Software Support	\$1,292.49	1	\$1,292.49
25014146 ONEFS CAPACITY LICENSE TIER 4 =CB - ProSupport Plus MC Software Support	\$14.497	120	\$1,739.64
JWXNM2015001 10 A200-2.2GHZ/2C/16G+15X8TB SAT/400GB	\$3,499.90	1	\$3,499.90
ENTERPRISE ADVANCED BUNDLE TIER 4=ID - ProSupport Plus MC Software Support	\$814.53	4	\$3,258.12
HDFS FOR ONEFS 0.00 - ProSupport Plus MC Software Support	\$0.00	4	\$0.00
JWXNN17420000 9 BASE CHASSIS - NORMAL - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$358.20	1	\$358.20
JWXNN17420001 4 BASE CHASSIS - NORMAL - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$357.06	1	\$357.06
JWXNN17420001 5 BASE CHASSIS - NORMAL - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$357.06	1	\$357.06

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
JWXNN17440007 6 BASE CHASSIS - NORMAL - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$358.20	1	\$358.20
JWXNN20100004 7 BASE CHASSIS - NORMAL - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$820.48	1	\$820.48
19688590 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688596 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688626 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688632 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688614 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688622 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688602 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688610 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688542 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3833	60	\$1,942.998
19688548 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
19688637 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19688643 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
JWXNT17380002 0 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,077.68	1	\$2,077.68
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.42	1	\$62.42
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.51	1	\$64.51
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
19688591 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688599 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688625 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688634 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688616 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688624 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688605 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688611 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688546 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3833	60	\$1,942.998
19688550 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
19688638 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19688644 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
JWXNT17440008 4 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,077.68	1	\$2,077.68
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.42	1	\$62.42
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.51	1	\$64.51
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19688593 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688598 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688628 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688631 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688617 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688621 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688606 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688608 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688541 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3833	60	\$1,942.998
19688552 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
19688639 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19688645 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
JWXNT17440010 4 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,077.68	1	\$2,077.68
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.42	1	\$62.42
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.51	1	\$64.51
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
19688592 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19688595 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688630 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688633 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688618 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688619 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688603 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688607 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688545 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3833	60	\$1,942.998
19688547 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
19688640 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19688646 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
JWXNT17440017 7 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,077.68	1	\$2,077.68
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.42	1	\$62.42
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.51	1	\$64.51
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB	\$9.12	60	\$547.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
19686628 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19686634 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686604 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19686610 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686616 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686622 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19686640 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686646 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686652 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19686658 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
19686556 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3835	60	\$1,943.01
19686562 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
JWXNT17480003 3 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,071.03	1	\$2,071.03
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.22	1	\$62.22
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.30	1	\$64.30
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
19686629 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686635 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19686605 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19686611 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686617 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686623 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.4736	60	\$148.416
19686641 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$0.00	1	\$0.00
19686647 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686653 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19686659 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
19686557 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3833	60	\$1,942.998
19686563 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
JWXNT17480003 7 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,071.03	1	\$2,071.03
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.22	1	\$62.22
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.30	1	\$64.30
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
19686630 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686636 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686606 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19686612 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686618 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686624 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19686642 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686648 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686654 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19686660 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
19686558 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3835	60	\$1,943.01
19686564 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
JWXNT17480004 2 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,071.03	1	\$2,071.03
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.22	1	\$62.22
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.30	1	\$64.30
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
19686631 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686637 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686607 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19686613 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19686619 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686625 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19686643 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686649 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686655 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19686661 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$219.99	1	\$219.99
19686559 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3835	60	\$1,943.01
19686565 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
JWXNT17480004 3 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,071.03	1	\$2,071.03
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.22	1	\$62.22
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.30	1	\$64.30
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
19686632 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686638 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686608 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19686614 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686620 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19686626 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19686644 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686650 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686656 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19686662 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
19686560 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3835	60	\$1,943.01
19686566 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
JWXNT17480005 0 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,071.03	1	\$2,071.03
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.22	1	\$62.22
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.30	1	\$64.30
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
19686633 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686639 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686609 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19686615 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686621 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19686627 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19686645 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19686651 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19686657 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19686663 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
19686561 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3835	60	\$1,943.01
19686567 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
JWXNT17480005 1 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,071.03	1	\$2,071.03
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.22	1	\$62.22
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.30	1	\$64.30
19688594 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688600 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688629 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688635 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688613 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688620 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688604 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688609 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19688543 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3833	60	\$1,942.998
19688551 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
19688641 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19688647 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
JWXNT17480022 2 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,077.68	1	\$2,077.68
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.42	1	\$62.42
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.51	1	\$64.51
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
19688589 SMARTLOCK CAPACITY LICENSE TIER 3 =CB - ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688597 SMARTLOCK BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688627 SMARTCONNECT BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688636 SMARTCONNECT CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688615 SYNCIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$361.00	1	\$361.00
19688623 SYNCIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$5.89	60	\$353.40
19688601 SMARTQUOTAS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$147.06	1	\$147.06
19688612 SMARTQUOTAS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$2.47	60	\$148.20
19688544 ONEFS CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$32.3833	60	\$1,942.998

Isilon Renewal - 1 Year - Co-termed to March 31st, 2026

Description	Price	Qty	Ext. Price
19688549 ONEFS BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$1,339.20	1	\$1,339.20
19688642 SNAPSHOTIQ CAPACITY LICENSE TIER 3 =CB ProSupport Plus MC Software Support	\$3.42	60	\$205.20
19688648 SNAPSHOTIQ BASE LICENSE TIER 3=ID ProSupport Plus MC Software Support	\$212.99	1	\$212.99
JWXNT17480027 4 H500-2.2GHZ/10C/128G+15X4TB SAT/1.6TB PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$2,077.68	1	\$2,077.68
2X40GBE QSFP+ BACK END W/O OPTICS PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$62.42	1	\$62.42
2X10GBE SFP+ W/O OPTICS - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$64.51	1	\$64.51
ENTERPRISE BUNDLE CAPACITY T3 PER TB=CB ProSupport Plus MC Software Support	\$9.12	60	\$547.20
ENTERPRISE BUNDLE TIER 3=ID ProSupport Plus MC Software Support	\$569.24	1	\$569.24
MT1824X13244 SWITCH IB QDR 18 PORT 1PS 1U MELLANOX - PROSUPPORT PLUS 4HR/MC HARDWARE SUPPORT	\$205.725	2	\$411.45
		Subtotal:	\$193,018.00

Dell PowerStore + Isilon 1 Year Renewal

Prepared by:
The [RE]DESIGN Group
Eucalyptus Segovia
(424) 207-1600
esegovia@redesign-group.com

Prepared for:
Fulton County, GA
141 Pryor Street Southwest
Atlanta, GA 30303
Anne Wilson
anne.wilson@fultoncountyga.gov

Quote Information:
Quote #: 009153
Version: 1
Delivery Date: 03/25/2025
Expiration Date: 04/21/2025

Quote Summary

Description	Amount
PowerStore Renewal - 1 Year - Co-termed to March 31st, 2026	\$333,128.00
Isilon Renewal - 1 Year - Co-termed to March 31st, 2026	\$193,018.00
Total:	\$526,146.00

Acceptance and Incorporation by Reference

Acceptance of this Quote is binding and the above item(s) will be purchased in reliance thereon. All sales are final. Payment Terms are Net 30. After orders are placed, a final invoice will be provided that shall include all applicable taxes and shipping charges not included herein.

This Order together with the Master Services Agreement and Service Attachments and other terms and conditions identified on Exhibit A, all of which are incorporated herein by reference (collectively, the "Agreement") is between REDESIGN Group (sometimes referred to as "we," "us," "our," or "Provider"), and the customer found on the signature block at the end of this Order (sometimes referred to as "you," "your," or "Client"). This Agreement is effective as of the date both parties have signed below (the "Effective Date"). Both Provider and Client are sometimes referred to individually as a "Party", or together as the "Parties". Any capitalized terms in this Order not directly defined are referred to in the applicable document identified on Exhibit A of this Order. If there is a conflict between this Order, the Master Services Agreement, any Service Attachment, or Exhibit, this Order will control.

By signing or accepting this Order, Client acknowledges, represents, and warrants that it has read and agrees to the terms and conditions identified on Exhibit A to this Order which are incorporated as if fully set forth herein.

The parties hereby agree that electronic signatures to this Order shall be relied upon and will bind them to the obligations stated herein. Each party hereby warrants and represents that it has the express authority to execute this Agreement(s). This Order supersedes all prior negotiations, proposals, orders, agreements and communications between the parties regarding Provider's Services.

Provider may make changes to the Agreement at any time. If there are changes, Provider will revise the date at the top of the document. Provider may or may not provide Client with additional notice regarding such changes. Client should review the terms and conditions regularly. Unless otherwise noted, the amended terms and conditions will be effective immediately, and your continued use of the Services thereafter constitute your acceptance of the changes. If you do not agree to the amended terms and conditions, you must stop using the Services immediately. Please note, you may incur a termination fee or other third-party fees, if applicable. You may access the current version of the terms and conditions at any time by visiting <http://redesign-group.com/legal>.

The parties, acting through their authorized officers, hereby execute this Agreement.

Is a PO Required?

Yes - PO# _____ No

The [RE]DESIGN Group

Fulton County, GA

Signature: _____

Name: _____

Title: _____

Date: _____

Signature: _____

Name: _____

Title: _____

Date: _____

Exhibit A

Agreement	Description
<u>Master Services Agreement</u>	General terms and conditions applicable to all Provider products and services
<u>Services Attachment for Managed Services</u>	Core managed services including monitoring, remote management, and help-desk
<u>Data Processing Agreement</u>	Data security and privacy agreement including statutorily required terms
<u>Service Level Objectives</u>	Targeted response times by tier of severity
<u>Schedule of Services</u>	Description of managed services offered by Provider
<u>Schedule of 3rd Party Services</u>	Notice of third-party services and waiver of claims

The Future Belongs to the Curious

redesign-group.com